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1..  Which of the following would not be included in the definition of M1?

a.  The $250 in cash in President Fogel’s wallet.  This is part of M1. Currency outside of banks.
b.  The $250 that President Bush has in his checking account.  This is part of M1.  It is a demand deposit.
c.  The first $10 bill that Ben and Jerry earned in their ice cream store in 1978, which is now framed and hanging in their corporate headquarters. This is part of M1.  It is currency outside of banks. The fact that it is hanging on a wall is irrelevant. 
d.  A $50 U.S. savings bond that your Great Aunt Agnes gave you for your 15th birthday. Savings bonds are not part of the money supply.  
e.  All of these are included in M1.

2.  Which of these actions will cause an immediate increase in the money supply of the U.S?

a.  Anita Job deposits $500 into her checking account.  The currency part of M1 will fall and the demand deposit component will rise.  So no change.
b.  Banknorth makes a loan of $4,000 by giving that amount of money in cash to Stu Dent so he can buy a used car.   The loan that the bank makes to Stu means that Stu now has $4,000 that did not exist before, so M1 has increased.  
c.  Your parents live and bank in Boston.  They send you a check for $200 and you deposit it in your account at Banknorth and immediately withdrawak $200 in cash.  Banknorth then clears the check from your parents’ bank in Boston by sending it back to their bank and receiving $200 in reserves from that bank.  All this takes place in three days. There is no increase in the money supply when a check clears.  
d.  UVM gives Professor Woolf a check for his weekly salary of $76.23.  When an employer pays an employee there is no change in the money supply.
e.  None of these will increase the U.S. money supply. 

3.  When the real interest rate rises, the quantity demanded of loanable funds 
a.   rises, and investment spending rises.

b.  rises, and investment spending falls.

c.  falls, and investment spending rises.

d.  falls, and investment spending falls.

The demand curve for loanable funds slopes downward.  So an increase in the real interest rate means the quantity demanded of loanable funds falls, and investment spending falls. 
4.  When a bank creates money, it does so by

a.  making loans if it has sufficient reserves  Yes, it does.
b.  printing currency  Banks cannot print currency. 
c.  increasing its cash reserves in its vault. If banks increase the amount of reserves, has no bearing on money creation.
d.  selling some of its loans to another bank.   No money creation here.
e.  Banks cannot create money.  Only the U.S. government can create money.  Banks can create money by making loans.  The U.S. government cannot create money; only the Fed can. 
5.  Which is not a function of money?

a.  a unit of account

b.  a protection against inflation

c.  a store of value

d.  a medium of exchange
Money is not a protection against inflation.  It loses its value in inflationary times.

